=9

Z 3x%y + 6xy 9] AP=T

® @ 3(x+2) © 2

@ xy+2 ® 3x2



2. AC =20y + 167 = (Br+ By’ A T, A+ B O] 3LE Fofole

933‘4*3:7



¥ =2+ ]=(x-[_))?

@ 2 3 3 @ 4 ® 5

@D 1



— + - = ,] uk— I ﬂ-
(o) ( b)2 S ol=x3sH HH, ab 2] 78 er ]_0:1
h=3 )C2 6x a = (X = U= =

Eab =



x% = 5x+6 = Q12of o}HA?

O (x-2)(x+3) @ (x-2)(x-1) ® (x-2)(x+1)
@ (x-2)(x-3) ® x+2)(x+1)



6. (3x— iy) (5x+ y) ANA xy 2] Al



thg 23} o] & wle] olzk x Al FAZEGe] 1A, 7k o)t
1 olm AZe] Pol7k x 91 HAztgo] 8 A, 3 W Holzt1 4l
AAzEgel 15 A7t ek, o] ERER st AAAYS wE T
74 Zolo} A2 Aole] A4E Fatolet. (2 LololA] &S hol2
wck.)

- T~ <

566866
586686
586686




® x+3

@ 2x+3

@9

® 2(x-3)

@ 2x-3



9. 852 -1152-1622 + 2382 & Alilstoi=t

YER
=%



10.

a-b=1,d>-p =42, a+b 2 F2?

D1 ® 2 3 3 @ 4



® (2a+ 3b)(2a - b)
® (2a+ 3b)(2a - 3b)

® (2a+9b)(2a - b)

@ (2a+ b)(2a - 3b)

@ (4a+ 3b)(a - 3b)




o
jille
rlo
N
I
ftlo
ro
i
M
:?—l‘_‘a
_O,l‘,
£
o
rE
filo
ne
rlo
M
)
o
8o
rlo
sl
flo

)

@D —6ax — 2bx = —6x(a + 2b)

@ ax®>+ay=a(x+y)

® alx+y)-b(x+y)=(x+y)—ab
@ —4x% +16y? = —4(x + 2y)(x - 2y)

® x(2a-
b) + 2y(2a — b) — z(2a — b) = (2a — b)(
-b)(x-2y)—z



13. o2 Al A x2-3x-18, 3x2 +7x—6 ,2x> + x—15 2] F5 Q15E?

@ x+3 @ 3x-2 ® 2x-5

@ 2x+1 B x-6



14. ohg o144 T ¢

i \_4\—7]'2)(—20211111’ E]—_E_?_}?l%\_%{?
6x* — 8x+m
L2t @ 2x+1 ® 3x-1
@® 3x+1

B 4x-1




15. oA (x-y)(x -y +5) -6 & LFEoHSHA?

@ (x—y-1)(x+y+6) @ (x=y+1)(x—y-6)
@ (x+y+2)(x—y-13) @ (x-y-2)(x+y+3)

® (x—-y-1)(x-y+6)



16. (x+3y)? —4y*& IpEoliotd?

@ (x-5y)(x-y) @ (x4 2y)(x—-2y)
® (x-5y)(x+y) @ (x+3y)(x+2y)

® (x+5y)(x+y)



17.

x(x 4 2)(x +4)(x + 6) + 16
=x(@)x (x+2)(@) + 16

= (x% +6x)(®) + 16

(@) =A =5t

A2 +8A+16 = (A+4)? = (®)?2

@ x+5 @ x+3

@ x2 1+ 6x ® x2+6x+1

® x*+4x+38



18. o5 g4 e] s 40N @, O ol-8d 54& E7]1A
o Ao

Zo} ate 2 A2 A7

+2xy+y’-1
SRR
=(z+y+1)(x+ y—l)j©

H7]

7}’)61 +2ab+b2 (a+ b)?
) a? = (a+b)(a-D)
)
)

+(a+b)x+abf( a)(x+b)

(
(
(oh) «2
(2H acx?® + (ad + bc)x + bd = (ax + b)(cx + d)

@ (7h), (1) @ (), (°h ® (7h), (*h
@ (1), (7H ® (71, (D



19. 2-494+14y—y? ol x AL 1A F L
o), 5 Qapale] e Pt

D 2(x-y) @ y+14

@ 2x-2y-7 ® x-—y+2



el
ol

No

Fol xy ol Aot el

Sk

=2y 4 )% - 98 AR

20.

Stofet,

:I]_



21. a=175, b=0.25 <Y 4, a2 - 6ab + 9b? 2] Ft& F5}H?

D 1 ® 2 3 3 @ 4 B 5



2 492
22, 2 -6xy+9? =04 o, = O] F2?
2xy
1 2
- ‘ 1
@® 3 @ 3 ® @

(2, xy #0)

SIS

®

w| ot



ZALZE o] §lo17t (a+b)(a+b+1)-30 0], 7k&2 2] Zo|7} (a+b-5)
A wf, o] ZArzFY o] A& o] Aol oHH?

@D a+b+2 @ a-b+6 ®at+b-6

@ a+b+6 G a-b+5



24.

8-Ta(a-2)+a*(a-2)>=(a+A)(a+B)(a+C)(a+D) 2L
S, A+B+ C+D E stofeh

Y
=¥



Z

© x+2

© x+5

A x-2

@ (x+5)?

@ (x-— 2)2

® 0,6, ® 0,06

® ©, O

ORUNC)

@ 6,06



26. o= Ae deEsistE?

(x=-2)(x-1)(x+1)(x+2)-40




27. 4% —6ab+ 9b% — 36¢2 Q] QA7 E 4 Y= ALY

@ a-3b-6¢ @ a+3b-6¢ ® a-6b-3c

@ a+6b-3c ® a+6b+ 3¢



28.

OJZFA] x? — 3xy + 2y® + 4x - 5y +
b)(x+cy—d) 7} ETh o

ofx

®a+b=3 @ b+c=2

@ ag+c=-1 B b+d=-3

® c+d=1



29. o5 T &A1 o2 A2

O xB3-x2+2x-2=(x-1)(x*+2)

@ xy-x-y+1=(x-1)(y-1)

® xy-2x+y-2=(x+1)(y-2)

@ x+1)-4(x+1)=(x+1)(x+2)(x-2)

® ab+1)-(b+1)=(1-a)(1+b)



